
IN231100155V01_UK

842-338V70

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY

ASSEMBLY INSTRUCTIONS









M6x25 mm Bolt
M6x14 mm Bolt

+1(spare)
+1(spare)

+1(spare)

20

M5x10 mm Bolt



L

Description QuantityPart Part Description Quantity

A
B
C
D
E
F

G

H
I
J
K

L
M

Front Leg A
Back Leg B
Back Leg C
Front Leg D
Table Top 
with Burner
Glass Beads

Metal Lid

Side Panel

Door Panel
Knob
Gas Tank 
Support
Cover
Side Panel 
with Window

1
1
1
1
1
1
1

2
1
1
1
1
1

* Connect four legs(A,B,C,D) to the table 
top (E) by using eight M6x10 mm bolts
(AA).

 
Please  don't tighten hardware at this time.

* Connect the Side Panel with Window(M) to the Front Leg(A) 
and Back Leg (B) by using four M6x10 mm bolts(AA).

* Connect the Side Panel with Window(M) to the 
Control panel by using four M5x10 mm bolts(DD).

Assembling the Side Panel with Window



Ignition

*Connectthe Knob(J)to the Door Panel(I) 
by using one M6x25mm bolt(CC).

*Then place the Door Panel(I) on the Front 

Assembling the Side Panels 

* Connect  two Side Panels(H) to 
the Back Leg (B,C) and Front Leg(D)
 by using eight M6x10 mm bolts(AA)
. Leg(D) as shown in the picture on the right

* Attach the Gas Tank Support(K) to the four legs(A,B,C,
D) by using four M6x14 mm bolts(BB).

Tighten all bolts with a Phillips screwdriver (not included)
.

BB

*Place the Glass Beads(F) into the fire bowl.

Note: Ensure no Glass Beads(F) are placed on 
the lgntion portion of the burner. 

Then place the Metal Lid(G) on.

glass beads



Note: The Cover(L) must be removed when 
the burner is in operation. Wait until the unit 

*Open the igniter and place the AAA battery (NOT INCLUDED)

*Put the cylinder into the Gas Tank Support (K), and
secure the cylinder by tightening the screw in the gas
tank support. Connect the hose and regulator to cylinder.

 into the igniter. Then tighten clockwise. 

cools before installing the Cover(L).






